Negative eksponenter pa 10
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Navn: Dato:__ Score:
124, 8 x 1001 = 7x 1003 =
6x10° = 1002 =
599,9 x 100% = 10CY =
1002 = 100D =
7% 100D = 1002 =
1079 = —1x 1072 =
1071 = 1003 =
1009 = 284,9 x 1002 =
709, 3+ 1073 = 132,9 x 1009 =
3x10= 1002 =
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Negative eksponenter pd 10

Navn:

124,8 x 1079 = 12.48
6x10°=6

599,9 x 10 = 0.05999
1072 = 0.01

7x100Y =07

107 = 0.0001

1077 = 0.1

107 = 0.0001

709, 3 + 107 = 709300

3 x 10 =30

Dato:
7% 100 = 0.007
1072 = 0.01
107 = 0.0001
1079 = 0.1
107 = 0.01
~1x 1072 = —0.01
107 = 0.001
284,9 x 107 =2.849
132,9x 107 = 0.01329

10°? = 0.01
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